address

Processor count a0
ro highest_score a4
r num_quizzes a8
r2 quizzes ail2
r3 al6
r5 /\_/\/
ré a100 zero_reg r1
r7 a102| storer1 ->[r1+0]
T —
al04 | storer1 ->[r1+4]
PC a106| loadr2 <-[r1+0]
N a108| load r3 <- [r1+48]
Condition subr3-r2->r4
codes N| | Z| | Pu atio -
ali?2 br.nz 12

al14| load r2 <- [r1+0]
a116| addr2 +r2->r2
al18| addr2 +r2->r2
a120| load r3 <- [r2+12]
a122| load r4 <- [r1+4]
ai24| subr3-r4->r5
a126 br.nz 1
aiog| store r3 ->[r1+4]
a130]| load r2 <-[r1+0]
ai32| addr2+1->r2
ai134| store r2 ->[r1+0]
ai136 br.pnz -16

a138 (display ...)




